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52b (7 awp) > 53b (75 N'IN)

Note: our x>0 invokes the dispute between 1337and »01 *1about the time of mwpwir p3; A1 “1holds it to be a duration, from sunset; »01 *7 holds
it to be a moment at the end of that period; either the last moment of 1237's mwnwi paor the moment after. ¥’12is deemed to be oy 790, 71575 pav;
afterwards is certainly night.

I

II

» mwn: length of M Yw required for N9 (2 black hairs invalidate) for o>y (2 white hairs) and “everywhere” (our case)
a  Snypw 7. long enough to curl the top down
b  »”r enough to grab with a fingernail
¢ y”rlong enough to be cut with a scissors
i n”r we follow all X1mn? (i.e. whenever any of these appear, ma invalidated, ny1x identified and child>adult)
T mwn: impact of discovery of a ona
a  »n”rshe has lost her “count” vis-a-vis na1/nT »m and, if worn for 3 days during na1 'n> and ona is 3 Po*13+, may be nar
b opom no reason to be concerned about N1 due to nmMNd
¢ note: "mnon” identified as ®"an", per kn»71 where he rules that o’nns alone cannot establish na’t
i However: he admits that it could lead to n2; if she wore 3 clean garments over 3 days and found onn>
1  Or:if she saw 07 on 2 days and found a nn3 on the 3'9; if these were N2t »m, she’d be a nar
2 Note: the 2" case is more obvious than the first; mentioned because even in this case, her na’r 127p isn’t eaten (pav)
d  ~37 R"n7's argument bested 12
i N7an7in a case of 2 Po™), we aren’t WWIN, we assume that they came from 2 nyxa (not 3)
ii ~ So:in case of 3, we should assume that 2.5 was from her and the remaining bit was from a louse
1 237 in case there are 3+ 10, since it is possible to divide them into enough per day, we assume “the worst”
2 Question: why does ®”an1 mention 3 separate garments, if he is also 821p% n9n when it is on 3 different spots?
(a) Answer: he was meeting 1127 “halfway”, that they should agree that if 3 0 are in one place, assume a louse

II  xp»ia:if she saw 3+ Pori of Dna, NYWIN; if less — no WWN; RMR 12 N’ "1 — quoting *0v "1 — should be nwwn in either case

a  Reason: perhaps she saw 1 &1 (of a ©+) during mwnwn 1 (see note) - considered as if she saw 2 nRa
b 237 prefers XX 12 "M’ "1 in a case where she didn’t do a np»12 and 1327 when she did
i Clarification: 27 a7 1327 — means she didn’t check the garment; only checked herself — but only during mwnwn 11 of " "
- not during mwnwn pa of YoV "1 (see note); since they hold »01 7’s w”na to be n%Y; he holds it to be pav
ii ~ ~27 disagreed — that would only be valid if her hands were there during entire v”na; but she may have seen at removal
iii 37227 237 meant their answer only if she had her hands there during entire w”na
iv  Further clarification (of »27): 13271 agree that if she didn’t check at all during v”na, must be nwwin
¢ Challenge: Rn»71 — RMR 12 NI "1 quotes »0Y ' — only nwwIN if N21In PRI (3 Porat)
i Answer: without 1, easy to answer — our Rn 1 is if she didn’t check w”n»a at all; this one —if she checked during 1+t part
ii  But: according to »21 (who disagrees here about 01 '7’s opinion and represents “stringent” opinion) — difficult
1 Answer: two versions of »21’s approach — depending if o1 *1’s w”n1 is after 1327’s or at the last moment of 1327’s w”na

IV mnma: disputes 21p%R 12 nynw "1/717 about impact of on>

a  If: she saw ony,
i 237 it has retroactive nRm (to last check of garment) for n*w1p and for her own status
ii ~ #72¥7. no retroactive NRMV at all; o'nnd should not be judged to be more severe than &3
b  If: she saw a on> and, later on, saw 07T
i 27 may assume o3 is related to o7 — back 24 hours
ii ~ ~72w7 only that day
1 »27 prefers R"awn — as he adjusts for her, whereas »27's approach hurts her
(@) Question: indeed, '27's approach “saves” her from violation
(i) Answerl (x2237): switch the positions
(if) Answer2 (27): no need to switch — 8”"aw adjusts her towards her counting for na’r (by not adding a day)
¢ Question ("oR "0 X1 "7): do NN require a NINY PLAN (to begin counting v»p1 '1)?
i Answer (he later recalled it): from above ®Xn»11 (’27’s position) —
1 571 only if she had checked
2 v 71 even if she hadn’t checked
(a) Implication: n"nva poan is needed
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